Y
=T Pl ST, 2 e yas
' ' AANFIYA
Sy phigel g leyd cedlage &)l5g
0 3g0] Cdgleo
S g 55kwg,ls (higel slygd Al yo
R S-SINT ST S ¥

AA-28 Loaxs Jlo

o @nu)lf 0399 (6999 &9.0)‘7 OY g

KA

Ao

== 9319 (bt

N\

iedb gl wlasicwo
:‘;élgﬂ.& el g |AL3

ZQ)[S o)Lo..i‘:

J

~N

y 3 cdbgls
A Olao slaws Hlas 1) OYlgu ax 1288 ¢ 655uuly £4,0 51 L8 sl deialys>
Ol ad> (Yoo &y JIKI 435 12 925 &j90 ;5 5 0315 J15 () 2 990 280

W
J/

Wb 08 jle Gl il ) colaw! <@

ww.farhikhteganp.ir AAQQ + 1)




ST o
Sl guzmo ay 35 plas’ 5 JWSTg plsl gl =)

OO — 00

1.HBr 2. excess NaNH, (.l

1.Br, 2.excess NaNH; (o
1.Br;, H,O 2. excess NaNH; (z

1.H,0, H,SO, 2.excess NaNH; (o

fodil oo (MESO) 930 58 Sy10 325 SLaS 5 51 SQ plas

CHs
H————cl

H——Cl

CH,CI
el JIpls oS 55 plas

Cl

NN

ww.farhikhteganp.ir +YY-AAQQ 4T




Tl plas” oy STy Jol>  —F

Ceaw! 'ol..\f ») JJB Juol>

Tl (55598 0uiS S i ) ey S 51 G plas

-OH (W

-F (C

-Cl ¢
ww.farhikhteganp.ir +YY-AAQQ 4T




CH,Br

+
CH,COO Na

fomlod uanni [y y GWSlg g5 =V

O

PN

O

Sl SlnSg0,57 (o
ww.farhikhteganp.ir

DMF

Benzene

>

E2 (o SN1 (i

Cawl ,c‘..\.f ») &.Lﬂg Jg.a.?u

€005 3929 315 oS 5 s lu )0 (ole 095 plas

Ls;:..a—l (A

+YY-AAAQ + T




W

()

NN 6

ww.farhikhteganp.ir

. ~ Vs
Q _. | (gl y 18 (39051
el ol e
A8 sasg 00 pS o0 Wygo Jayw 2 gadle Il 51 G plas’ )3 SN (fasTy -
Br
Br
H3C/\/\/ (o )\/\ (W
H,C CHj
Br
H H
CHS . 30/\‘/\(: , (
HsC Br ¢
CH,
¢! ,c‘..\.f ») &.Lﬂg Jeaxoe =V
Na
HsC C=—=C—CH, Lig. NH, >
H
H H CHs
-/ >\< (o
HsC
HsC CH, H
H
/\/CH3 o
HsC © He” @
H

£2,18 1) (g alail () yilow JoSdgo plas’ Y

+YY-AAAQ + T




W

- " o
: _ oy ol )5 (yg0 3]
R Sl plus 5 Jodgo 30 (359 ya o1 Hommwly yud =Y

HC——N=——=C=—=0
d%sp® (s sp (z sp? (o sp® (!

Sl oS 15 oS 5 Syl el V¥

trans-1-methyl-2-cyclohexanol (.l
cis-2-methylcyclohexanol (o
trans-2-methylcyclohexanol  (z
cis-1-methyl-2-cyclohexanol (s
Sascmd Sailog,l wlus 5 plas =10

S
<) ©
C
A B D

£0,19 1y 53t @8 52 5¥G @D,C,0) Wy 3g i 51 Sy plas -1

c H
\ l CHg
a N
\ | / Ny
H,N \
B d
/
N
b
d ¢ C (z b (- a (all




ol PS5 B STy o3ls Jpamo — 1V

Zn(Hg) Brz

Y

HCI FeBr,

-
Y

O,N
Br

O,N

Cawl ,c‘..\.f ») 6“&;";5‘3 ‘S’LQ.’ Jg.»a.”u =\A

1. CH;CH,CH,MgBr (excess) -

2.H,O/H*

O

A~

O OH

/\/A PN ¢ W <
HsC 0 CH CHs

3

3

H5;C

ww.farhikhteganp.ir +YY-AAQQ 4T




ww.farhikhteganp.ir

fCawl ,9‘.35 ) u~‘5'5 J.»ol’ -4

flaw! plas ) STy Jpaxo Yo

+YY-AAAQ + T




Sl plaS 35 S 5 50 (59 0 (3 5 o] =Y

b (o a (W

Cawl p‘..\.f ») &.Lﬂg Jo&b =YY
(0]

//

H,
+ HyC—C —C—H

OH
H,

H,

C —C——C —CH; (v
H

H,

i

C'—C=—=C—C—H G
H H

CHj

TOgu o0 (ygum DS 99 558 Jozxio Dyl p> 51 50 95 OluS 5 51 S plas VY

o e} (@] 0]
HsC OH H3C OH

o o
(s (z
ch/\/\H)l\OH H3C/\H/\)1\OH a
o 0

ww.farhikhteganp.ir

+YY-AAAQ + T




ww.farhikhteganp.ir

1. NaOEt , EtOH

-

2.H*

Tl plas” oy STy Jol> V¥

Sl plas’ 5 Olas 3 GHb oyud iy =T

NH,

c>d>a>b (
d>a>c>b (o
a>b>c>d (¢

b>d>a>c (o

+YY-AAAQ + T




CH3CH,NH,

-
>

NaCN BH,

1. NaNO, , HCI

2. H20, heat

HOOC
ww.farhikhteganp.ir

>

flawl plas’ 3 STy 2l Jgaxo —VF

H,
N—C —NH, (!

Sl PS5 STy Jol> — TV

COOH

+YY-AAAQ + T




1. NaNO, , HCI NaBF,

2.H20, 0°C

ww.farhikhteganp.ir

X

Tl plas” 3 STy Jol> — YA

foblon 5l 25 Ol 5 51 S5 plas @y 5 sy plnsl sl =14

OH

o]

” ()
EtO——C——OEt

(0]

©
o

©
Na

o—c—o (¢

+YY-AAAQ + T




Tl plas” ) STy Jool> Y

HaC CH, HaC CH,
V\( . \‘/\( .

HZC\ Br CHs
Br

855 goud
ol aigSz JINLS () b 931 5 955 sWog,S (6 mSoslwil sl Jos o9y =¥
Sllgw peilly 39381 b Jolono (o9 alais oly3l (Al
Lo 5 gl vl Sopeilsn b pae (&
a8 e 5 Slilgussd g el Sl b 205 iy (2
Ll Gl bpan (0
§ s eand 3l — sl GLdgamsl i (95 4 (ol (ole gloog ;5 (g 03Il o alazr plas Y'Y
il i BB O o Sl gla el (]
ilgtomis BB Ol o el By, & hexd L5 slagnsl (o
235l0 Sl glagrel (y9zmen (5 L) 0w s5il> slagel (2
Wl BB ol Pl 5o @oil> 5 Sbegyl glageel (0
00933 b rediamno ol (6 yiogs (SUd gl i L abadi Y'Y
Jolw alats o cainlis cun (A
Jolss abais o> ;o s ol ey Kl (o
Joles adais Jlg> 0 cailis cox (2

009ua 33 Uy pndi b S Ll 1 (an b (598 dumnl b clrid b S gl yid 5o = FF
Sl lp LYl xS pH (!
ol 3 e LY PH s (o
Vol e pH o Lo (&
Y 5l xS pH )O:Lo.:} S
ww.farhikhteganp.ir ' +YY_AAQS + + T,




L
ws—“ = shiio OT Yoo ML 43 PYFY S50 o, LAIK(SOy )y VH O s 5 51 0,5 FIVE 151 _ ¥
(o 2l Jobmo yo Ollgw (o — (J)9
1VAY (Gl
188 (o
LEVE (¢
VARYAY S
4295 by /YN o Jglomo b g o 4l p Jolono 510 ML Lds aigas Sy 50 Candlgms 5350l g1
5l Canl Gyle Y M ol cdale jo Jolei alads ool 5 loglheo &
SOY™/SOy” Ej=-/WV,I3/17 Ej=-/6¢V
JYFV (Gl
YV (o
XAV (z
NV
09 o0 0liiw] (FguilS 4z (%0291, 6l (g (oS 95008 A) ST Lol ,i5
Mg (!
Ni (©
Zn (¢
Ca ¢
$Cumaz EDTA b o] sl (5T 5y gumilbmogr 38 AP i ol3ko (5 5031051 Judo
STy (092 (o5 pue (]
oiSly aiS Ce o (@
celie SLbis (095 (2
oSty aid Ce o (0
flamss 3239 90 plaS @b PH 53 azgi JiB yuodd 51 5ol )0 80 SO (2Uly
0S8l glyz S cdake (l
ool cdalée cons (o
23S 5,8k iz ool PKa (2
Lo gl (o
fumd ST osidoCgm) Jolge 932 315 GBS 20 51 Sy plas
ST 5 Lt 5 (al
S (oSyeeh (@
Sl Sldlgs (z
Shg S5 o (0
C iy o Sl 90333 50 plowil (humo 4z 50 g0 b9, b Cl (g, 1l
il o CrOF” 5l Jaloe Slulis «o3b L i (Ll
il o FE¥ 5 Jolre FLuLis wgannl (o
sl SCN jl Jglxe Slolis (s Lo (2
A5l oo CIOS 51 Jslone SLlis s 53k G5

ww.farhikhteganp.ir +YY-AAQQ ++ Y]




03,05 Sl <5 EDTA b uSlnS JuSis glagygmml i 58 1) Jole plas — FY
EDTA cob b (Ll
Aokl (o

31 Gl @yl Jobas akais pH «/AM HCI & NaOCI (pK, = ¥/8) 31+/\M Jglxo g o310l yo — FY¥
10 (I
FIYO (o
YIVO (z
ITAT IS
ol @ ylee Jodowo PH 08,5 a8Lsl «/Y M HCI Jglxo 31y ML NaOCI +/Y M Jglxo 51N ML 59, p ;51
(PK4 = V/8) =3
Yo (ll
N (o
£I0 (z
SVA SN )
€0 25 (09 51,8 ooliiwl 390 3gm b 9 WLy (Wla S (2 G3l> labglio  uSojluil 5o 515 s plus
698 duml b bolxe IS (5,5 0;lasl (Al
S b b ol S e ool ooy (@
Stal b geglb ol S w ol S o has (&
Jobss abais Jlg> o Jolowo (il (0
YO ml pzxo a4 g 0uds Jo il ) (SS9 508 12 o) (G i i (ygamilpwrgn 51 Y M Hluiio
S B o o[ IM e lale Ly EDTA 50¥/Y ml Lids o 51 Y0 ml ¢y gnil i (6l s .o oilusy
95 ol @yl grmibawga 310 ml jo (MW = 0A/Y9) Mg(OH)y 5 o
va/a mg (&
Vay mg (o
YaRg (¢
vaamg (s
€0 55 50 plowil (Zrimwolilo gy 4 ol St ygSun] (5 5031031 Judo 4z 4y 152
Al S8l 55008 5l (6 S gl ()
RV *5&:-3)55*“] sl (@
sl S 5| el (z
culie SLolil 0929 pas (o

3 515 Ll B il Al ool s a9 S=+/Y 5 lasliw] Blyzsl b Ve MY om0 9yl S (g puSojll 4o S

S RO REAN FSIPSOE /S RET Y B
AR
e (o
YR
AL

ww.farhikhteganp.ir +YY-AAQQ ++ Y]




ww.farhikhteganp.ir

S dY 1Y Ml oy (KHP; MW =Y:¥ g) @YUS (59,0 pawliy 51 YO+ MY 38,5 yid gl a5 )50 0 = FA

(G 55 95 ol Sid) 131 oyl gt Jaloxa CAé bl 3L
«/+aY M (I
AP N (o
JEEM (2
NAFM (o

L;a_wub LboT Qg i (gl p ogy plas .Cawl WS EDTA L Co(ll) 9 Cr(l11) ST S Cawl oul U")‘)f -0

Qé).ﬁf )‘)5 solasuw! é),.o

Sy (g 5 03Il SO i ls by gl b9y oy cwlo

X+ts (il

X ts -

s (¢

X+RSD ¢

Cagd0 ol e 42 4 Glalojl S Cmo - OY
ooty aols (Ll
b e (@
o laitinl Gl =l (7
F-cus plxl - (o
s (g0 B9 30 JTom! o failins! Jalro Ky byl 93 53 plas - O
S oslail 4 gl (all
sbj slacudbl b assly (o
Jols sy &y BTl 25T (2
o0l ajlge (pleordh 2STy (0
139550 )1 & By (lgie 4 by plaS )0 T S g5 92,1 - OF
3 leds (Al
Py (@
SreguSdesS (2
T TG

+YY-AAAQ + T




g ——
Azafa gud o0 oolaiw! o ylaslivw! ylgie @ 3 0 )lg0 31 SO plaS 31 oo Ol guwgs Jedoxo (30,5 o )lailiw! gl =00
& (l
Sl p ey (@
pely 2 (g
pesly Sl (0
ol 03¥ iy bKioy 0,5 wiz (MW =172) sy Ui gy 51 ¥ g0 /) Jakoro yid ¥ antd (61
¥y (all
YIY (o
(&
AT
S8 o03 puSlyaS 3Ly EDTA b 546 ol (35518
Mg (!
Al (o
Ca (¢
Na ¢
ol o0 dgm Jolomo (ygul i (52 adgl 8,lailiwl (0 Fomwlio 325 sladis 35 51 S plus
Sl dnel (Ll
S y,l5 sl (o
Sl S5 (&
SYLS 39,0 mely
p3¥ o S g yuu 0,5 wia (MW=FONAOH bawgs’ Jlo i +/Y Sy A5 sl i o 395 (25 sl
!
¥ (W
V (o
fo(z
Yo (o
Sl Jodoxo yid (o Ve 4 (MWi\aop = F+0/ MOI) sl daaS'g jusd iyt 0,5 +/0F ladio 109381 b
il oo o boldn il gizes 00 4y 35 plus Y go w0 Sy cdilé b (HyPOy) Gy
HyPOy : kg = ¥/11x1.7"

Kay = #/¥Yx). 7"

Kay = F/85).7'"

Ao Slid 50 ,088080 prckes i 3 S pid el (5]l Lol (il

Al e Dlad ()39)008 i sd Sad 5 Sland (139,005 prde S glls byle (o
DBl ge Dland (59,0860 e Sas sl hadd byl (z

Al oo Dlawd 59,000 maw g Sos slyls Ladd bgle (o

ww.farhikhteganp.ir ' +YY-AAQQ 4T




ol o 3
15 75 (o0 plonil (Jobw i g 0y a5 52 ol po 51 SO plas’ )0 DNA (g5lwasilos g ilwimiigy = #)

SBLT (all
Bl (@
Bk (&
S8l (o

€09 50 S| O (5955 03153 (5 ko oo 35T Pl ddled s 3!
Gl & 5565 (al
sleasls (o
b G385 (2
o358 £ oV shel (o

€3 puS (o0 plmil (g )aiT 9o LA 31 2 (Lol JLi! o0bo pluS” b g
e )8 (A
o (2
15— JeemS 9 (g
155 - deigle (o

3,15 0929 (Jokw Lid yo Olus 5 5 G plas
Jsreds glo il (!
bessn (@
JsrcdS Jewlis i (o

10,15 (pwlwl Jus (95 S o] HLAS il 50 (S plus
Ot (Al
odels (o
o5l (@
owelisn O

310 0o 1 1y 39 SN JUEGH idis Wyaa 351 31 dicwns olas’
55 9, g ()
¥y (¢
bjlasls (2
ES LU

fanl oIS s 3 Sigal (g0 (280 S o oo
G Bk 3l pssisel o (S
Ogelinel il 5l Jol> iz slaaenl gl (0
loadds 5l (el (2
oads &5k sloysl (0

ww.farhikhteganp.ir ' +YY-AAQQ 4T




ww.farhikhteganp.ir

TS (03 S g (g oaeanndS (399, pmnd glio )3 (390592 plaS” — FA
OpeS goms 4lgS” (]
Jes b (@
OB I (&
oy bl
£i315 il T 3T ool o cpmnliy g 31 09,5 plaS = $4
D, A, K
By, E,D (&
C,AE (¢
B,, B, E ¢
39 o0 Juol> A (roling (S plas’ &y 51 = Ve
Jop odS s (I
T
Sl S5, (g
JossSs
T0gu o0 B pao ol il Cdls 50 (198 359l Hlodio oy s (b plas jo V)
She (il
&S (o

axale (o
1398 o0 (yaoling oIS (yladid sl lly HlgscudisS Mols' (60,8 51 — VY
B, (&l
oewls (@
Sl Sl (2
C ¢
fadl oo 202 50 Jolmo Glagmoling 5l Sy plas — VY
Jos o5 (A
ols (o

olden, (z

S 9d y (0

faul o0 (LS WS gs T 0o 51 i olisnl 153 lagraoling plaS adgi = V¥
DB (u
K 9 A (<
B,K (¢
D 9 C (0

+YY-AAAQ + T




fogu o0 Sl joilo = O (il yuudgs )5 plas oSl 0 VO

ST (!
oS (e
o
(o) Phowge (o

e A 30 (9= o 9t 9 Sl (3 IS 4 S (3T (25l Gl e 4 (9,595 GLiE (b 0 Do
ODP 09 4 99,9 ey (Al
090 092 % 09,9 e (@
099 Jlzes ety (2
099 3l g s O

Cadly o STyol g gibaivo glocwl &y Lish Gcallsd  ooas olfiws Lid plas cisllg
bl Ly (I
axe (o
oVl (2
& 0

faiiws (5300 olacl puin bz g) i i 4 Glo g 9 2L g (2l Slasl
£ oY (
T, (o
V)Y (@
AsY o (s

Tl 1030 58 (359 5l (90598 Tt i Jomo «SQ plas
8 (A
643 Juyel (o
s il
aE (o

Tl aid )5 51,8 ooyl 51 YL (g 50 0l plas
Jb,oT
sanellie) (o
e (g
SLs slaadesll (o

feul yi 38 0us plas Wl i g udS (o0 gl i 0 o 1) @l @ubo (Bl Lol eud Chr wiy - A)

EIESRNC
e ¥ (o
S
s

ww.farhikhteganp.ir ' +YY-AAQQ 4T




L pov— ]
R fuiS (o0 3,9 0195 Wl Canund plas 5 g il i 1y 4.5'::‘)'5'f S Pl (w3598 (I SCL s plos — AY
ansjlss slesl- 5090 (A
odse bl 509, (@
oare sletl- )09, (2
ansjles ghanl- ynen
?éﬂ.fcs“ O )guo gy &b 3l 6ylyol slaalgd o ‘P“J‘S éé‘> - AY
O3 5 pely (I
pesly 9 35515 (o
sl el 5 039,002 (2
o g baul gl (o
Fogu o0 (B Canns] oo Sy plus — AF
S o2 G381 ()
B og el (o
rels O oI (2
peelS” O GRS (o
fo9ub (o0 ooy (b (lS B 6l o298 SladuaS Hlax Gladglw buwgi oolo plas’ — A
IS 6 g (il

Dgesnes (@
I S5 (&
SeS shesl G
fadloo o> 42 ggomo Flo cud B — AP
03k 0,33 lan + (6, (slgn + 00,0 (slgr (A
2k 038 lop + (gl Glap + ge0 035 Glep (o
odile b lsn + 5,1 slse (2
oxile 8L (slgn + co03l 0,3 Slgr + 00 0,3 Slea (0
09 o0 Sl SQ plaS 53 o (rrglSgod 9 (o JemS (o Mg el Ll 0 — AY
i S el (Gl
Oyl S B (o
aas gloS nse (2
IR EXWWL TS SUVOR
00055 50 Loy oy il (51391 9 3w Sk A2 50 S0 e (39098 INS i i 8l — AA
ADH (.l
el (o
Osr9n (&
PTH

ww.farhikhteganp.ir ' +YY-AAQQ 4T




fubl oo (b oBiws Sl (omas i (b Jd Joloo Cdlo plas’ — AR
G550 alie s s (ll
09 LS s (@
Seope lsl (2
sl olu! (o
ol 59580 o 35T (i Jlad 90 55 g0 )30 39S 41 (3 595lS s e 3T 51 09,8 el s Jlad i1 o -4
fall oo SO plas 5l
S5l Sy el 51 0aliial b _iatigy sloiyga g — LojlonncST (i
SPU Sy o Sl osliinl b (59 slagygeygn - LY 08 (o
b 03,5 Gloosi S enilSe I oolitul b (uds yiul slagyse 90 - bajlsg 00 (2
b 09,0 Groni S murilSis Sl oslinul b (udy il sl e ,58 - Lajlis s

(SO g
Sl (551 G381 PR 5 Jg)giomw 4y (55455 giono 51 Ol i 9,5 5l S Q)
595 (all
Pl (o
oz sl Jow (g
PSS
fuwl iy 35 plas’ (Sl s o181 58 (59595 jop cde —AY
o) pad 2B G233 5 5565 pu B alS (I
Lo 5 55605 muud S 18 (o
Losed 5 55515 pudd bl 205 (2
Loseed e 2B (2005 5 55605 B a8 (o
a2 o0 (s L 1y ol Sdguansl T 50 4890 (Gigns S 5 5 438 plas —AY
A8,11,14,17 (LI
A6,91215 (o
A5811,14 (¢
A35811 (o

39 o0 (omlS g Sl Jo 4z @ Jgilil Spa0 —AF
50land—F— SIS jlae (I
S oS 50)S Sl slsinsd Jloo (o
Sois NAD a5 (2
Js;50 NADH tals (s
2 g on (oI Joid ot Sl 1) Glam 5T ded 50 (a5 — 90
Pl 5,000 VI b ()
S5 808 (3955 (@
ESg, eiuem (2

ww.farhikhteganp.ir +YY-AAQQ ++ Y]




L pov— _
CsaSiiew| P15 1 55 9 13 9ud el 2lio yo (Lecithin Cholesterol Acyl Transferase (LCAT)) o 351 i —4f
&L HDL 4 (nascent) suss as-ls o6 HDL Lo (!
O eskd odilonBly 4y 05, Sesled hoos (&
IDL & VLDL Luos (¢

LDL JsyudS pudgolin (s
Sl bLI ) 30 a1y p il b o2 351 plas (yluid b Cadlad dguos
s 3 51 V=T (!
Oighrd (@
GeslSs S Y-W (@
CRP (s
(o9 g0 Bl i ()5S Lot lis 33 9§ Aol (bl a gozmo 51 Sy plus
Ol = DS = (e (Al
Skl Sl = e - (i (@
Odan Sodee - oo - e (2
Odon - i o Seye - i O
S (0 5o 1y CPTL) | g3 51 yhunil 5 Jdgsandly ¢ (5515 o2 3T cedlad o0lo plus
A 35155 Judsell (A
A w315 Jadle (o
Sl (2
A 3l el (o
sl plas Lo e g2lio 50 (gl (99098 A
e 09 namd 9 09098 4 el Sld 9,8 b (Al
Sbd g need 9 030592 4 ele L Sl (o
e e need Dl 5 09090 @ wles L 005 S8 (2
S Oeonsed 00,5 Jld 5 Osess 4 e b S
flwwl dumd gnd S 5 ©LaS 51 S plas
Js 5555 poe (A
E1 opaidling, (o
ol (2
SepresSsS (o
Cogu 0 Jido (Fy900 4% 4 (335 30 B! gionol (ol 09,5 (359 i
Slelsgls (Ll
oblew] (@
ol (2
okl G

ww.farhikhteganp.ir ' +YY-AAQQ 4T




300 g 50 guuno diumol (Sl da2x i 51 gy Sl yadS 952 05 9,50 dod VoY
bl @ yiad o 4Ll (Gl
Odon & JeaSg e b L2l (o
O 4 Jete o BLSL (2
SlabislS 4 oS 5,5 s sl (o
00,10 (Sl T Sl (510 5 ity Jolod i oIS« 59890 3ud 1o jo =+ F
iyl (<l
N POV P (W
N
oYl
Sl sl Sigyaul 9l 325 S GISS giunol 5955 51 G plus =140
lidgus Lo o (Ll

Sldlgw (rly,0sS (@
Sl Sy 0l (2
il 1,5 (o
F0gu o0 ai bl S 3 plas 5l pdinowgidw —V+F
Oy (A1
e (2
oPee (Z
OlpdSgans =Y (o
! gazmo G (pasigy Ols 91955 9590 3 535 9,90 51 Sy plas — V¥
il oo € 5ldginsd codlad S joe ()
<l GTPase cools lls (o
S oo Jd 1y g oads Jate Gp g n & (2
S e Sl |y S ST (o
€094 o0 00 yideny (@-helix) WT gy slo ol 5o 5 il (Glaaml 51 Sy plas’ = 1A
OB 5 (A
oY (o
o (@
oddan
Cogu o0 (5 lows IS Blmsl &y yoxio 31 yhandl i Juig 195 9l —UDP s 51 5 o ai — 144
e 55,8 (A
Ol Omgd (@
7 (&
ool

ww.farhikhteganp.ir ' +YY-AAQQ 4T




3,10 Wl aliae (b Jobw JS15 4 SS90 ol JUH 53 (GLUT) 5598 (pdBU 51 G plas’ - M-
Y (&
F (o
T (¢
AR )
(o9 s 5 4552 3yl ©ljlogd G b 31 5 ol (slausus! 51 Z95 plas’ =)
e 9 Obsim 5 (Al
isxd s oIS (o
eelS 5 Y (2
oo s oYl G
fowl 49l slagluyely Lo 25 G j Sy plass 1Y
Jspeds (Al
Oedgd)5 (@
oleS hasland (2
ol hosland
fadloo Joid ye5 Ogorgp OIS 519,90 plas 1YY
elsSen Shels (Al
Og> w8 ghals (o
Ay ldsand Joe (2
Sl sla STy poges Jl3 - (0

Tl oIS g )5 45 32 9 0,9l 45 32 o S pllo S 5 = VIF

Slbigs (o
bkl (2
Shlegd (o
faigd oo Joolo 05 oS 5 99 51 S plas 5l edigy o0 HU 41 0,9 3w sl &5 (259 s coyg) S yo =1
oy yg) 5 lelsgls (Ll
eyl 9 DB lewl (o
Slbgls 5 wland Jisal S (2
Sb k! g Sland JSgelh s (o
1370 bl Yigo wiilgd (o0 ) o moling dod (5 ghriimwgod 4 M llowr Loy o —WVF
B, (Ll
OeSsdm (@

Byv &
S s

ww.farhikhteganp.ir ' +YY-AAQQ 4T




3 i Izl joS0 ] ) Ol i ded VY

Ol )5 (@
o ysssy (&
ol geg s (o
O] ] ol oo line jLuS gamd puilyS 9 LDH1 sl iul381 pwolio cllu £0 0 0 SO 85 Slowdly j0 = VIA
Tlaw! 333 0y90 plas 4 Mol ALiS Cardg
Szl 5 lew (A
S5 oS Wl (2
50 (7
ol cuils (o
320 D9 Jrow ) SlaS )7 plod 4y wilgi oo A 1 35185 sl =114
Js lS (2
oz sasl (o
b (&
SsS sl (o
faslib 0 ABO Gg5 09,5 0uicS couni ) Ol 5 3 diwd plas — Y-
PRV ST WA Lo
ool (2
Lardstndy pucdS (0

o908 Ob)
Part one: Vocabulary Questions:
Directions: Complete the following sentences by choosing the best answer.

121 _ When someone under a stressful, frightening condition, his heart beats more rapidly and

his temperature rises.
a. panics b. bites C. succeeds d. subsides

122 _ A mental illness is a disease that causes mild to severe in thought and/or behavior.
a. demands b. determinants c. disturbances d. merits
123 — Depending on the kind of infection you have, your doctor may a drug that fights bacteria

or viruses to help you get better.
a. prescribe b. disseminate c. exhibit d. preserve

124 _ Alcohol’s slow-down effect on your brain can make you , S0 that you may fall asleep more
easily.
a. dynamic b. toxic c. drowsy d. steady
125 _ The old man was sent to a nursing home for a period of rehabilitation and

suffering from a stroke.
a. impairment b. convalescence c. confinement d. prominence
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the medical team if the patient's condition is not under

control.
a. precede b. distinguish c. criticize d. manifest

127 — Any educational system with fails to succeed; there should be an attempt to remove them.
a. drawbacks b. advantages c. facilities d. opportunities
128 — Although it may seem to be unlikely to completely all diseases on earth, we need to take

highly effective measures.
a. resume b. accommodate c. eradicate d. presume

129 _ Due to his severe health problems, he was recommended by physicians to smoking.
a. refrain from b. resortto c. interfere with d. engage in
130 — Parkinson’s disease may appear as slight just in one leg or in the fingers in one hand in

its early stage.
a. convention b. concept c. remedy d. tremors

131 _ Health workers recommend the mouth after each meal to remove the small food pieces in
it.
a. rinsing b. pinching c. twisting d. expanding
132 _ The hospital floors have to be cleansed whenever they get ............ :
a. curved b. soiled c. spoiled d. curbed
133 — The 20™ century has witnessed the of evidence-based medicine with great advances in
technology.
a. shortage b. adventure c. failure d. advent
134 _ His heart does not function ; he may have a heart attack soon.

a. spaciously b. scarcely c. cautiously d. properly
135 _ Some computer specialists believe that in near future computer technology may
medical procedures.
a. ruin b. soak c. replace d. damage
136 — In China, experts in mental health have asked the government to officially
addiction as a health disorder.
a. transfer b. recognize c. block d. stretch
137 — Our brain can memorize better when we are interested in the or when we already know a
little about it.
a. component b. structure C. session d. subject
138 — The flash flood brought a to the hospital, making the patients leave the hospital
immediately.
a. delusion b. disaster c. cheerfulness d. contraction
139 — The members of the committee were about the results of the study and asked for further
research.
a. skeptical
b. convinced

c. ensured
d. casual

140 — The aim of the study was to the relationship between social class and learning ability.

a. exploit

b. explore

C. exaggerate
exacerbate

d.
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L% .
”A#_ 0: Reading Comprehension

Directions: Read the following passages carefully. Each passage is followed by some questions.
Complete the questions with the most suitable words or phrases(a, b, c, or d). Base your answers

on the information given in the passage only.

Passage 1

Alcohol consumption may be linked to women's risk of infertility, say research findings supported by the
National Institute of Child Health. In a study of nearly 6000 women, researchers from the Harvard School of
Public Health looked at data from those evaluated at seven infertility clinics. After adjusting for other factors
that could affect the results, such as age and cigarette smoking, researchers found a strong association
between alcohol (more than the equivalent of seven cans of beer a week) and infertility due to ovulation
problems. The inability to conceive was about 30 percent more likely to occur in women who drank

moderately and about 60 percent more likely in women who drank heavily.

141 _ The researchers supported by the National Institute of Child Health ............ .

a. were victims of infertility

b. had spent a lot of money on fertility

c. stated alcohol might adversely affect women's fertility

d. took care of women who were suffering from alcohol syndrome

142 _ According to the passage, one can assume that women who are infertile ........

a. possibly drink more than seven cans of beer a week

b. smoked a lot of cigarettes when they were very young
c. have never referred to infertility clinics

d. drink neither moderately nor heavily

143 _ The passage tells us that ............ :

a. smoking fails to be as harmful as alcohol

b. a lot of research has been done on smoking

c. we are unaware of the side-effects of infertility

d. women who drink heavily have the risk of infertility

144 _ The researchers working on infertility concluded that there was a significant relationship

between alcohol consumption and ............ .
a. cigarette smoking
b. ovulation problems
c. amount of beer
d. age factors

145 _ The underlined phrase ""the inability to conceive™ refersto ............ .

a. alcohol consumption
b. heavy drinking

C. misconception

d. infertility

ww.farhikhteganp.ir

SYY_AAARS o 1]




The environmental movement, or the ecology movement, includes conservation and green politics. It
advocates the sustainable management of resources and care of the environment through changes in public
policy and individual behavior. Also, it considers human beings as a participant in, rather than the enemy of,
ecosystems, and entails the countries to consider at least three types of rights: property rights, citizens' rights,
and the nature's rights; but it varies from country to country. For instance, countries in the Middle East and
North Africa have different adaptations of this movement.

Countries with high incomes on the Persian Gulf rely heavily on energy resources in the area. Initial level
of environmental awareness was the creation of a ministry of the environment. The year of its establishment
is indicative of the level of engagement, e.g. Saudi Arabia was the first to establish environmental law in
1992 followed by Egypt in 1994, while Somalia lacks any environmental law. In 2010, the Environmental
Performance Index ranked Algeria as the top Arab country at 42 out of 163; Morocco was placed at 52 and
Syria at 56. The index also measures their ability to actively protect the environment and their citizens’
health. This weighted index is created by giving 50% weight for environmental health and 50% for
ecosystem vitality; the scale ranges from 0 to 100. No Arab countries were in the top quartile; seven
countries were in the lowest quartile.

146 — The writer fails to include in the environmental movement.

a. green politics

b. economic policy

c. conservation policy

d. management of resources

147 — According to the text, the best ranking obtained by an Arab country in the Environmental

Performance Index belongs to ............ .
a. Saudi Arabia
b. Algeria
c. Morocco
d. Syria
148 _ According to the text, countries may be considered engaged in the environmental protection by

having created ............ .
a. the ministry of environment
b. the index of lowest quartile
c. the amount of energy resources
d. their citizens' health status

149 _ The underlined "it" in line 3 refers to ............ .

a. sustainable management
b. environmental movement
c. individual behavior
d. public policy
150 — The Environmental Performance Index assigns weights to both ecosystem vitality and

environmental health.
a. dissimilar
b. quartile
c. minimal
d. equal
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Passage 3

Two different kinds of technology make up most of the telemedicine application in use today. The first is
called ‘store and forward’, and is used for transferring digital images from one location to another when it is
necessary. A digital image is taken using a digital camera (stored) and then sent (forwarded) by computer to
another location. The image may be transferred within a building, between two buildings in the same city, or
from one location to another, anywhere in the world. Teleradiology, the sending of x-rays, CT scans, or MRIs
(store-and-forward images) is the most common application of telemedicine in use today. There are hundreds
of medical centers, clinics, and individual physicians who use some form of teleradiology. When radiologists
install computer technology in their homes, they can have images sent directly to them for diagnosis, and
they do not need to make an off-hours trip to a hospital or clinic.

151 _ The paragraph following this text will most probably discuss ............ :

a. teleradiography in radiologists’ homes

b. instruction of ‘store-and-forward’ technique
c. improvements in image transfer technology
d. another technology in telemedicine

152 _ It is inferred from the above passage that ............ :

a. teleradiology allows the personnel to save time in performing more tasks
b. all medical centers, clinics and doctors use teleradiology nowadays

c. ‘store and forward’ is the most form of radiology all over the world

d. physicians have been using teleradiology for hundreds of years

153 _ In the passage, teleradiology is described as the of telemedicine today.

. most direct diagnosis

. computer technology

. clinical transformation
d. most popular use

154 _ The expression ""off-hours' in the last line is closest in meaning to "*hours

a. busy with work load
b. away from work place
c. onduty

d. oncall

155 . The author’s attitude toward telemedicine is ............ .
a. positive
b. critical

c. impersonal
d. unsupportive
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Self-directed learning (SDL) can be described from three perspectives: (1)a personal attribute, (2)a
process, and (3)a design characteristic of the learning environment. First, self-directed learners should
possess the necessary personal characteristics at a certain level, because the degree to which learners have
these SDL characteristics influences the extent of their control over their own learning. Second, SDL pertains
to a process in which learners take control over the instructional steps, including planning, implementing, and
evaluating learning. Knowles(2006) defines SDL as a process consisting of five steps: (a) diagnosing
learning goals; (b) formulating learning goals; (c) identifying human and material resources for learning; (d)
choosing and implementing appropriate learning strategies; and (e) evaluating learning outcomes. Third, SDL
Is considered as a design characteristic of a learning environment which fosters the control of learners over
learning (Loyens et al., 2008). A learning context can be designed to incorporate elements that influence to
what extent learners control and direct their own learning process. For example, online learning
environments can provide learners with a learning context involving resources, structure, tasks, feedback
from instructors, and peer collaboration to facilitate or enhance SDL.

156 — Self-directed learning can be addressed from three viewpoints including ............ .

a. control over teaching

b. online self-learning

c. personal traits of individuals

d. sufficient educational resources

157 — The author’s purpose for mentioning “online learning” is to explain that it

a. is arequired environment for

b. can alter learners' personal traits in

c. is a designed environment that can help

d. can incorporate process and individual traits in

158 _ Loyens believes that learning environment should be designed to help learners ............ .

a. manage their own learning process
b. improve their peers' personal traits
c. receive feedback from their peers

d. implement learning strategic plans

159 _ Feedback from instructors is given as an example of aspects of SDL.

a. online

b. personal

c. structural

d. environmental

160 — A self-directed learner should have him to foster his/her learning.
a. peers to work with and help
b. instructors to give feedbacks to

c. environmental designers to help
d. proper personal traits to enable
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